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. An American student claimed that some of the last names of professors in the
department ($ ~ F -+ B ~ ¥ - Z=) were very confusing to her when she first joined
the program. Can you propose a hypothesis to account for the case? (16 points)

II. in English, there are word pairs such as ‘PERmit’ (N) and ‘perMIT’ (V) which have
contrastive stress assignment. 12 learners usually have problems remembering the
stress assignment and mispronounce the stress/word in a sentence. However, native
English speakers can still understand what the speaker intend to say. Why do you
think that is the case? ({0 points)

1. In teaching Mandarin, some textbooks say that the use of Y in the following
examples is related to past tense and marks a past time:

o fEEERREILm

Ans.: a) ftHEEXEIRY
b) fSX EFEIRY
o) fEERA & EI/ "8y

Please take a close look of the examples below and answer the questions:
(2) WHAUF—RR, BTFHRE:
Kid: HRERRMERZA?
Mom: a) SXEIZHY
b) BAREEIZHY
c) REREZHY

(3) Tom BREM, {BF Amy FAEGEERERE
Amy:  Tom ERERREIISR?
Tom: a) fIEERTT

b) ft5KE]

c) flERRE]

A) Based on the examples in (2) and (3), do you agree or disagree that B marks
past tense? Explain why you agree or disagree. (10 points)

B) What do you think B9 Is doing here? In other words, what is the function of Q)
in these examples? (RO points) '
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IV. The pitch of vowel nuclei can be affected by the surrounding stops. According to
the following coarticulation effects: (1) initial voiced stop [b] decreases pitch during
the following vowel, (2), voiceless stop [k] increases pitch during the following vowel,
(3), final glottal stop [?] raises pitch during the final portion of preceding vowels, and
(4) final glottal sound [h] lowers pitch during the final portion of preceding vowels,
can you predict the syllable structure of vowel carrying a high falling tone? Can you
explain why voiced stop, but not voiceless stop, decreases the pitch of the following
vowel? (20 points) -

V . Please use the following examples to discuss how a presupposition differs from

an entallment. (20 points) ZJAa B /EE -

(2)

(2)

(3)

(4)

(5)

(6)

(7

(8)

TN TN TN TN T TR DTN

John cleaned his car.

John did not clean his car.

John has a red car.

John does not have a red car.

Mary regrets that she kissed John.
Mary might regret that she kissed John.
Mary broke the window.

Mary might break the window.

John stopped eating apples.

John did not stop eating apples.

John and Mary went to the party.

John and Mary did not go to the party.
John cleaned his car.

If John is not busy, then he will clean his car.
John has a red car.

If John is rich, then he will buy a red car.
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VI. Consider the following Korean data (20 points):

[sadan] ‘division’

[toldari] ‘stone bridge’

[kutho) ‘vomit’

[hadol]  ‘white pebble’

[thal] ‘mask’
[tari] ‘bridge’

(Note: Consider [ts"] as one complex segment.)

‘moon’

‘cranky resistance’
‘half-moon’

‘evil’ ‘
‘porcelain’
‘composition’

1. Do the sounds [t], [t"] and [d] belong to one phoneme, two phonemes, or

three phonemes? (3%)

2. Give evidence/arguments to your answer to Q1. (7%)

3. Posit an underlying representation for the words ‘division’, ‘half-moon’ and

‘cranky resistance’ and write a rule or rules (or use Optimality-Theory-styled

tableaux) to account for the mappings between underlying representation

and surface representation. (10%)
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